

9) a) $1 - \log_{\frac{1}{p}} x^{-1} \geq 0 \rightarrow 1 \geq \log_{\frac{1}{p}} x^{-1} \rightarrow x^{-1} \leq \frac{1}{p} \rightarrow x \geq p$

$x^{-1} > 0 \rightarrow x > 1$

$\Rightarrow \bigcap_{p \in \mathbb{P}} D = [1, \infty)$

$D = [\frac{1}{p}, +\infty)$

b) $x^p - x \geq 0 \rightarrow x(x-1) \geq 0 \rightarrow \frac{x}{x-1} \geq 1 \quad (1)$

$1 - \log_{\frac{1}{p}} x^{-1} \neq 0 \rightarrow 1 \neq \log_{\frac{1}{p}} x^{-1}$

$x^{-1/p} x \neq 0 \rightarrow x(x^{-1/p}) = \frac{x}{x^{1/p}} = x^{1-1/p} = x^{p/(p-1)} \rightarrow x^{p/(p-1)} \geq 1 \rightarrow x \geq 1$

$D = (1) \cap (p) \cap (-\infty, -1) \cup (-1, 0) \cup (0, 1) \cup (1, +\infty)$

Solved

16) a) $p^{\frac{1}{p}} x - x^p \geq 0 \rightarrow p^{\frac{1}{p}} \geq x^{p-1} \rightarrow x \leq p^{\frac{1}{p-1}}$

$\rightarrow (x-1)(x-1) \leq 0 \rightarrow \frac{1}{x-1} \geq 1 \rightarrow D = [1, p^{\frac{1}{p-1}}]$

b) $\frac{p^{\frac{1}{p}} x + \omega}{p^{\frac{1}{p}} x + \varepsilon} \in W \rightarrow p^{\frac{1}{p}} x + \omega > p^{\frac{1}{p}} x + \varepsilon \rightarrow p^{\frac{1}{p}} x - p^{\frac{1}{p}} x = \varepsilon \omega - \varepsilon$

$\rightarrow x = \frac{\varepsilon \omega - \varepsilon}{p^{\frac{1}{p}} - p^{\frac{1}{p}}} \Rightarrow D = [x | x = \frac{\varepsilon \omega - \varepsilon}{p^{\frac{1}{p}} - p^{\frac{1}{p}}}, K \in W]$



$r(x \cdot y) + y^r + y + K = 0 \rightarrow r(x - 1)^r + (y + 1)^r = 1 - K$
 $11 - K = 0 \rightarrow K = 11 \rightarrow r(x - 1)^r + (y + 1)^r = 0$
 $11 - K < 0 \rightarrow 11 < K \rightarrow r(x - 1)^r + (y + 1)^r$

۱۱-۲۰ $\rightarrow$ عددی، $\rightarrow$ نسبت

$$\frac{x \div a}{r} \rightarrow a^r + \varepsilon a = r a + a + r \xrightarrow{r a} a^r + a - r = 0 \rightarrow (a+r)(a-1) = 0 \rightarrow a^2 - r^2 \stackrel{!}{=} 1$$

$$f(1) = 1 + \varepsilon = \omega$$

$$x+1 \geq 1 \rightarrow x \geq 1$$

$4x - a \geq 0 \rightarrow 4x \geq a \rightarrow x \geq \frac{a}{4}$
 $b - 12x \geq 0 \rightarrow b \geq 12x \rightarrow \frac{b}{12} \geq x$
 $\frac{a}{4} \leq x \leq \frac{b}{12}$

$\frac{x+1}{|x-1|}$

$x \geq 0$

$x=1$

$x > 1$

$D = [-1, 1] - \{0\}$

$R = [1]$

$$\begin{aligned} \text{ii) } [x] - \varepsilon > 0 &\rightarrow [x] \geq \varepsilon \rightarrow x \geq \varepsilon \\ \gamma_- [x] > 0 &\rightarrow \gamma \geq [x] \rightarrow \gamma \geq x \end{aligned} \quad \left(\gamma \rightarrow D_f(-\infty, \gamma] \cup [\varepsilon, +\infty) \right) \rightarrow \emptyset$$

الف) $\frac{x^4 + x^3 - x^2 - x}{x^2 - x - 3} \rightarrow \frac{(x^2 + x)(x - 3)}{(x + 1)(x - 3)} \rightarrow \frac{(x + 1)}{(x + 1)} = 1$

$$u_j) \quad \frac{(x-1)(x+r)(x-r)}{(x+1)(x-r)(x+r)} \geq 0$$

x	$-r$	-1	1	r	∞
u_j	$+$	$-$	$+$	$-$	$+$

$$\rightarrow D_y: [r, +\infty) \cup [1, r) \cup [-r, -1) \cup (-\infty, -r)$$

$$\begin{aligned} \bar{y} & \rightarrow P_y \subseteq \mathcal{R} \cdot ([-1, 0] \cup [y, \varepsilon)) \\ & \rightarrow P_y \subseteq \mathcal{R} \cdot [-y, 0] \cup [y, \varepsilon) \\ & \rightarrow P_y \subseteq \mathcal{R} \cdot [-y, 0] \cup [y, \varepsilon) \end{aligned}$$

1) $\frac{\cos \theta + \sin \theta}{\sin \theta + \cos \theta} \cdot \frac{\cos \theta}{\cos \theta} \rightarrow \sin \theta = -\cos \theta \rightarrow k\pi - \frac{\pi}{2}$
 $\rightarrow \cos \theta \neq 0 \rightarrow k\pi + \frac{\pi}{2}$
 $\rightarrow \sin \theta \neq 0 \rightarrow k\pi$

$\therefore 1 - \varepsilon \sin^2 \theta \geq \sin^2 \theta \rightarrow \frac{1}{2} \geq \sin^2 \theta \rightarrow \frac{1}{2} \geq \sin \theta \geq -\frac{1}{2} \rightarrow D = [k\pi - \frac{\pi}{2}, k\pi + \frac{\pi}{2}]$

$$D = [k\pi - \frac{\pi}{g}, k\pi + \frac{\pi}{g}]$$